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Note : five 8Attempt questions in all. Question No. is compulsory. All question

carry equal marks.

1. (i) Find the effective rate of interest of 8% p.a. payable quarterly. 8

%

(ii) Solve for : log 3 + log (4 + l) = log ( + l) + l. 8

log 3 + log (4 + l) = log ( + l) + l.

2. (i) Evaluate / 8

(ii) In how many years will a sum amount to 2½ times of itself at 9% p.a.

compound interest? 8

% 2½

3. (i) If , , are in A.P.; , , are in G.P. and , , , are in H.P. prove that

, , are in G.P. 8

(ii) The th term of an AP is      and th term is     . Find the ( )th term. 8

AP

4. (i) Find the co-ordinates of the incentre of a triangle whose vertices are

(–3, –l), ( –1, 3) and (6, 2). 8

dqy iz'uksa ds mÙkj nhft, A iz'u la[;k vfuok;Z gS A lHkh iz'uksa ds vad

leku gS A

8 çfr o"kZ ns; =kSekfld dh çHkkoh C;kt nj Kkr dhft,A

ds fy, gy djsa %

ewY;kadu djsa %

fdrus o"kks± esa jkf'k 9 çfr o"kZ pØo`f¼ C;kt dh nj ls xquk gks tk,xhA

;fn ,] ch] lh ,ih esa gSa_ ch] lh] Mh thih esa gSaA vkSj lh] Mh] bZ] ,pih esa

gSaA lkfcr djsa fd ,] lh] bZ thih esa gSaA

fdlh dk ok¡ in    gS vkSj ok¡ in    gSA ( )ok¡ in Kkr dhft,A
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(ii) Sum the series : 0.7 + 0.77 + 0.777 + to -terms. 8

5. (i) Evaluate / 8

(ii) Prove that / 8

6. (i) Find the equation of the right bisector of the segment joining A(l, 1)

and B(2, 3). 8

A(l, 1) B(2, 3)

(ii) Find the 16th term of H.P. whose 4th term is and 13th term

is        . 8

7. (i) Evaluate / 8

(ii) Evaluate / 8

8. (i) The distance between points ( , 2) and (3, 2) is 8 units, find . 3

( , 2) (3, 2)

,d f=kHkqt ds var%dsaæ ds funZs'kkad Kkr dhft, ftlds 'kh"kZ (&3] &1)] (&1]

3) vkSj (6] 2) gSaA

J`a[kyk dk ;ksx % 0-7 $ 0-77 $ 0-777 $ ls &in rdA

ewY;kadu djsa %

fl¼ dhft, fd %

vkSj dks feykus okys [kaM ds lef}Hkktd dk lehdj.k Kkr

dhft,A

,p-ih- dk 16ok¡ in Kkr dhft,A ftldk pkSFkk in gS vkSj 13oka

in     gSA

dk ewY;kadu djsa %

dk ewY;kadu djsa %

fcanqvksa vkSj ds chp dh nwjh 8 bdkbZ gS] Kkr dhft,A

n

n
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x x
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(ii) Evaluate / 3

(iii) Evaluate 3

(iv) Find the slope of lines passing through the points (0, 3) and (3, 6). 3

(v) Which term of the series: 12 + 9 + 6 + ......... is equal to –30. 3

(vi) Define G.P. 1

dk ewY;kadu djsa

@ ewY;kadu djsa %

fcanqvksa (0] 3) vkSj (3] 6) ls xqtjus okyh js[kkvksa dk <ky Kkr dhft,A

J`a[kyk dk dkSu lk in % 12 $ 9 $ 6 $ --------- &30 ds cjkcj gSA

thih dks ifjHkkf"kr djsaA
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( 2 ²)Öx – x + x dx.

log .x dx.
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